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Time: Three hours
neuk :3 kzy

Maximum Marks: 100
myifglr kjigbg=zfs :100

Note/ Fwgq :

1)

Answer five questions only. First question
is compulsory.

leJ tdiffSfF klILk trlasiftk
Kjy nfstyfF fllhaknf &1 lasifftk

()

Candidates are allowed the option to
answer the paper either in English or in
Tamil or even to answer the paper partly
in English and partly in Tamil.

nghtnshfts  JkiHinyh  (m) M =hyjpnynh
myyd  ,uzlLk fyenjh w1 lasiff
mDkjiffgglLssJ.

3)

When answering in excess of prescribed
number of 5 questions, the excess answers
appearing at the end will not be valued.

leJ tdnftfSTF nky kirfahft ¢l
vGJk glrjjiy mej kirfand i lfsy
frlnandtwiw kjiggl braaggl khllhJ.

(4)

Answer should be brief and to the point
and need not be a verbatim reproduction
of printed pages.

i1 Ifs RUffkitk nfstifF chajhftk
LUjgy mtnak  qpyfs  mrolggll
gff~fsid guijgymgonf , UFF ntzIhk

(5) | Marks will be deducted for bad nkhirknd  1ftbaGjyywFk gn IggwFk
handwriting/ bad presentation. kj/gbg Zfs Fi WffggL k
Marks
1. Choose the correct answer: 1*20=20
gflwimeet eNenLenwi CHIHOSBSE! 61(LH&15:
I.  What is the duration for effecting a LT service under minor extension?
a. 1 month b. 2 months c. 15 days d. 1 week
SMpaupds SV Bluly GCewemer Q&g 6T @Qenewiliy
QIPRIGEUSMETEN HT6L&HC&(H?
a. 1omgb b. 2 ongm&st €. 15 BLseT d.1 eumyd
ii. The powers of sanction for capital works for Assistant Executive
Engineeris ..........
a. 50,000 b. 1,00,000 c. 2,00,000 d. 25,000
2 el QEWHQUTWITET] HUTHEHES 6UMFIL  CLPEVGEITD  FMHS
LewNseMett LA 6DL SMISSHTILD QFUIWL 2 &&F eufdy QHTENS .......
a. 50,000 b. 1,00,000 c. 2,00,000 d. 25,000
iii. Time limit for replacement of failed distribution transformer in rural
areais...........
a. 1 day b. 2 days c. 1 week d. 1 month
2agl L@HSeMNedL LWPSHMLHS Ol6dr LIHMIGHED6T LDTMHMIISHDHSTET
&ML&6&®.
a. 1 mmen b. 2 prlsen c. 1 eunmpgid d. 1omsd
iv. Section 138 of Indian Electricity Act deals with .............

a. Meter b. Direct hook  c. Building d. Temporary
tampering construction supply

AnHw WeoTemgE LD eNF 138 c1gemest eMeufl&HME)?

a. et BLLY Db. Coog et €. &Lligl d. sH&TeNs
L(LpGemL L HoLG &L_(hLDIT6TTLD LOl6tT @\6m6T0TLIL
Q&5



Vi.

Vii.

viil.

Xi.

Xii.

Xiil.

Time limit for attending fuse of call (FOC) in corporation area as per
DSOPIS ..o,

a. 6 hrs b. 12 hrs c. 3 hrs d. 1day

DSOP 61 L MBEITLE LGHSeMN6L GelpL 6T HemLemwl &ifl
Q&WIUeMHSTET &ML C&HH?

a. 6 e b. 12 wewn C. 3 et d. 1 mmen
G G G

E Tax for central government services is billed at .....

a. 5% b. 2.5% c. Nil d. 10%
LGHHUW & 6T Qeneuuilissmest E eulfl s5eNHgn?

a. 5% b. 2.5% C. @evemev d. 10%
Account head for compounding fees is ........

a. 14.908 b. 61.730 c. 14.905 d. 14.655
FLONE QFHTNESHTE 6UMFILI HETIHE 6T600 ...

a. 14.908 b. 61.730 c. 14.905 d. 14.655

.......... acts for internal fault of a Power Transformer.

a. Differential b. O/L relay c. E/L relay d. Distance

relay protection
relay

Smetr lerompmisaned 2 emGar HaHPL GeMOUITLIQenes Sevorl il

2 56)6U5)?

a.lquQper&lwed b, O/L fiGev c. E/L fGeo d. igefoLedrerv

fGe0 LG &&6dt
fGe0

DGA stands for .........

a. Disturbance  b. Dissolved gas c. Division of

Generator analysis Grands and

Actuator Agreements

DGA st ellifleunssLb?
a. Disturbance  b. Dissolved gas c. Division of

Generator analysis Grands and

Actuator Agreements

In a circuit breaker the opening time is ......... the closing time
a. less than b. equal to c. greater than d. zero

hest &MHMI Hmouumsst Ho&sUUEGL ChImeTg cpLUu@Gn Chrsems

a. GMMmeY b. &b C. S§sLD d. yguub
The Diversity factor for loading of Distribution transformer is ...........
a. 1.6 b.1.0 c.11 d. 15

u&gwomest  leormMullest U@y, gOHOSSMETET  WIHM  SMy6
a. 1.6 b.1.0 c.11 d. 15

The regulation constant for 7/3.15 AAA conductor per 100 meter in
LT lineis ...........

a. 0.03558 b. 0.3558 c. 0.07277 d. 0.8351

eh:  SMpeuwpss  7/3.15 AAA  sbUND  eeuQeur@ 100
UL (&GS 2 661 LA €(LPMRIG SITTETIN oo

a. 0.03558 b. 0.3558 c. 0.07277 d. 0.8351

The maximum load permitted ina LT service is .......

a. 150 KW b. 112 KW c. 100 KW d. 80 KW



Xiv.

XV.

XVi.

XVil.

XViil.

XiX.

XX.

SMD6U(PSS 6T QeveiliNed SIEILSSSUILEGDL HFlsLUULF L6
LI@p?

a. 150 KW b. 112 KW c. 100 KW d. 80 KW

No. of days of deviation from the previous assessment date permitted
for assessment

a. 5 days b. 10 days c. 20 days d. 15 days
@6UQCUMT(H SHEMISHSL 16T CUTGHILD (WDHeOSW! SHwisbSL (B Hreafed(hhs)
§THSHEN6 BITL_GHET QUM LOMMILIL VMLD?

a. 5 BIL &6l b. 10 prL&en . 20 prL g6t d. 15 prLlgei
Powers of sanction for Superintending Engineer/Distribution to
sanction improvement estimate is ..........

a. 5 Lakhs b. 10 Lakhs c. 15 Lakhs d. 20 Lakhs
GuburL@ WwHUS IgemeT  ABILSHES GCouTiamer  QuIHUITET)
LSITLOMESTD SieU&HeNetT SIS 2 §& audL QFHTens?

a. 5 @evL &b b.10 @eol&sd .15 @eolsd d. 20 @evl &Lb

Earnest money deposit (EMD) is converted into ........... after service
is effected.

a. b. Meter c. Advance d. E.-Tax
Consumption  Caution Deposit Consumption

Caution Charges

Deposit

QuOUUEL BLNGMS &IUY QGTEOSIWITIE  Ll6T  @emeuuliNmE
Nesrerj 61HS QevTmugeriled MHMULIHLD?

a.LOledr b.LH\6dT Lomeof) C. LOledr d. E-eurfl
uwest LG SMUUSQSTens  LwestumL (b
SMUUS QS TENS Fo(hH6L smeuLiL
Qs mTems
LT service after disconnection cannot be revived after.........
a. 3 months b. 6 months c. 1 year d. 2 years

SMD6U(PSS LOl6oT  QemeroTLiTesr LG GI6TOTQ LILITENG] 618 S6m60T
BIL&Ep&GL NG Ml 6T @eneuiliLé@ UflFedssIuLng)?

a.3 rgmgeT b, 6 wrgmsear  C.1 eu@pmLLbd d. 2 eu@mL M6
........... type of Fire extinguisher is used for  extinguishing
Transformer fire.

a. DCP b. Water c. Sand d. CO2
LOl6dT LOMHOUNEL JOHUGLD 6 HEMEWISHS 2 HYLD FTG6UTLD?
a. DCP b. Biy C. LD6TOT6L d. CO2

The section under which D.P is initiated for unauthorized absence of
RWE staffis ........

a. 26(2) b. 32(2) c. 19(3) d. 30(26)
SenLiLewnumeny (Lp6iT Sl @esr) LNEG 6uPmned @\(h&ESLD
Gurg 6hs aNHufest &p BL g &S T(H&HSLLIHLID?

a. 26(2) b. 32(2) c. 19(3) d. 30(26)
BPSC stands for ......

a. Belated b. Belated c. Belated

payment payment payment simple

service charge  surcharge charge

BPSC erestiiLi(peug)?

a. Belated b. Belated c. Belated

payment payment payment simple

service charge  surcharge charge



What are the conditions for parallel operation of Power Transformers?
et soTOTOHMIGHEmeT Qemewig g QFweonmmId CuUg &eedSHeL
Qameren Geustuniqul HILIHEENEIE6T 61601612

Write briefly about DGA? Name the gasses monitored in DGA and the
permissible limits for a 10 year old transformer.

DGA gismey umM &HESWLTS Sameyd? 10 gy euESenTs
LweTu(@HSULGL  Hmesr  NeomHenw DGA  gl1e)6@
o Lu@sgId Gung eumussefsit olenel GaeT @uiebums  eTeleumm)
AB&HH6L Geoueuor(HLd?

What are the protections that are available for internal fault of a Power
Transformer?

Smetr  TOIOHN  L(PSHDL UM SNTHGLD LMHISMLIL S eNS6H
WIMEDI6)?

State the types of fire extinguisher and purpose for which they are
used.

SWeneiliL] FMSH6uTMRISGe6 6U6ms HMID LILIETLIT(HSH6M6T Som)s.
What are the fire fighting equipments to be available in 110 KV sub-
station?

110 KV gieneoor LHleoT Hemeowf&led Q558 Ceueioniglil S leneuorLiL
GG 6URIS6NT WITEM6L?

Describe briefly about line clear.

Oledr UMenG HeoLHEsD uHd GMILLY 6UEDTS.

What are the general reasons for accident?

QUGS SSHITEST CILITG|6UITEI SHITJEURIGET 6T65TCl60T63T60T?

What is the official procedure to be adopted when an electrical accident
occurs?

Oleor  NusGH  gmulgest  CMCGTeTeT  Geueturig.L
HEDL_(LD6MM 6T 6T60T631?

How to obtain LC in an overhead line?

Cwed Hemev  NGTTUTEMHUNGL  6Tedeumm)  LOl6OT  HemL
GmQ&memen Geusar(HLb?

Explain briefly how rubber gloves are preserved?

JULT  M&SUDDMSENeT  6TUeUMM UMGIHTES Ceuam(hld  6T6TLIEMS
&(H&SLOMS aeufl?

SIEVIEUEVS

i3:3:30)

The following is a consumption pattern for a defective meter in a
commercial establishment. Work out the average units to be billed for
11/2015.

03/15 05/15 07/15 09/15 11/15
400 units 420 units 10 units 0 units ?
QWM UWPsmLDBS LOsomell 2 emen  euswile Ol @QememrLiTedt
LOl6tT& Iy Lwestum® &GLp QaerhésUUL (heTeng).11/2015
LIGSHHOSTeTT FITFF O6HTET LeTUTL 0L S6001&E (H5?
03/15 05/15 07/15 09/15 11/15
400 units 420 units 10 units 0 units ?




750 watts of supply from a connected load of 3000 watts domestic
service is extended for commercial use. Work out the compounding
charges and penal levy for 1 year.

@@, SThapss eof LG Wit Qemeiiied (3000  eumlerv)
WemmCHLTE  euemNs LweiumligM@ 750 eumlerd LWstiues 1
QLML LwaUGSHSW  HISTCUMIILL  61&e0&s5  Geueog.ul
&rs Qemans MM QELIEH CQSHTENSMU H6EsHE (h&?

An LT Industrial supply of 30 HP is extended upto a distance of 200m
in 3.15 AAA Conductor and 200 m in 2.50 AAA Conductor. Workout
the LT regulation both with diversity factor ( DF) and without DF.

30 @Heny Hmett L@ 2 LW FTDaPSES CBMHDeTmes@ 200
By 3.15 AAA 1fler sL§S wmmid 200 5 2.50 AAA A6
SLHSWD uwetu(GSHSH BLigly Qsuigh 6T @QememiliL  6ULDIMIS,
SMpepss  Fibemevenw, Ceamiemn  sMpeluLgid  (DF)
Ceummienin &myeun @eveurd HemeouNevild &HEwuISHE (HS.

An application received for pure temporary supply for a connected load
of 1750 watts. Calculate the charges to be collected from the consumer
inclusive of registration charges.

@@  elauamnuusmilLlGhg 1750  eumlierv  LO6STLIELSST60T
P (PEMLOUITeDT HM&Me0I% LOl6dT Bem6uo1LiL] 6)6BaT6vTLILILD
QumuuL_(Berter Hemeouiled, SieuelamemiLgmy CFSHS GCerecuvrg. il
SLL 6wl eMUJRIGEN6T LS6 | SHLLWISGHIL 65T &H60usHE(h .

An Industrial service with sanctioned load of 10 KW has a recorded
maximum demand (MD) of 12 KW and power factor (PF) of 0.80
during one of the assessments. The CC bill is Rs.1905/-. Work out the
MD penalty and PF penalty.

10 KW 10les1 e 2 6mlwl e Qamimamemey LHleor @ememiliied
@0 (Wom Hsuls e uep Coameu (MD) 12 KW womib PF
0.80 eteor  USHUTHWelTonG. COgID 6T HENHEL(H CHTNS
eumi1905 . MD gL s0smms wHmid PF &6 505mems
&6005E (h'.

What is two cover system?
QrLenL 2 6mM (LPEMM 6ET6OTMITED 6T6IT6?
Define the following:
I. Lump-sum contract
il Piece-work contract
iii. Turn-key contract
Iv. Fixed rate contract
Netreu(meueTeumenm efleurl:
I LB Qwrss eLUbSHLD
ii. §m Ceuemev eplILIHSLD
i, SWHG SWMALY  eUUbHSLD
Iv. Heneowimerr aNenev eLILIHSLD
What are the procedures to be followed at tender opening?
euubsLLdtal  SimssUuB  Curg &ML ES — Geustorigul
HEDL(LDDM 6T UIT6mI6U?
Explain Limited tender and Single tender.
GOIUILL  gjeneilevmer elLBSD OMID MM eLUBSLD UMM
aleufl&seyLd.



What are the conditions for rejecting a tender?
@@ @UUHS aNammliugamg RITsHEGLD HLbHSM6SH6T UITemew?

What are the categories of supply code?

LO6ST ULPMIGEL Nl QHTGUILNGT 6UEMSBS6NT WITemEL?

Write short notes on additional current consumption deposit.

Fa(b&6L LhleoT&My emeUlil QHMems UMM &FHSHLOMS FoMis.

What are the documents to be obtained for Name transfer?

Quwiy LMHDSHANG HSICUTFILD QuUD Cou6TITqUl  SY,EETIIRISET
WImemeu?

How is assessment done in LT where there is no meter or meter is
defective?

SMDeU(pSS Lhetr  Qemeililed  letTesenell  Q6LEVTH  SHELEVG)
Wleseorenel  Lp&SIOM  Hemeudelled  eTeleumml  LOIGT  LUI6TTLITL 6L
SanHS[H QFUIGH0 Geuetor(hb?

What is unauthorized use of electricity? Who are the minimum
authorized assessment officers?

IWILEWIMHM OETFM] LIETUT(R 6T6TMTEL 616076317 UGH6m6aT LOSIIT(H
QD GODHSULE WHITLE NIEULTSH6IT WIT)?

What are the documents required to be submitted to obtain LT service?
SMD6U(pSS LOletT QemevoriiL| eNeuielNS@Wn Gumgl FLOTUNSSILL
CeucTINg UL ) 6LETUTHIGET LLIT6MEU?
What are the compounding charges to be collected for

i. Industrial service

ii. Commercial service

iii. Agriculture service

iv. Other services

S&&GILUMNN@ 6ugHed CEWlILL  Geousiigul FIs QFTms
WImeme?

I QHMNLEUMS L6 QemevorLiL

ii. 6U6TIN& LOl6tT @6mevorLiL|

iii. aTleugmul Ot @emevorLiL

Iv. MM O @6M6TTTLILIS6NT
What are the functions of State Load Dispatch Centre ( SLDC)?
OMBeL LO6ET NHICWITE 6MLOWISS60T LIGTIGH6T WITEwI6U?
What are the functions of Tamil Nadu Electricity Regulatory
Commission (TNERC)?
SOID G LOGTFM] €(LPRIGLOEDD DTS SH6T LTINS WITen6?
What are the main objectives of the Distribution System Planning?
OleoT  L&OmenT  (Weom HLLLGSHOlT  (WWHEAW  GMISCHTETH6T
WImeme?

Describe the procedure for provisional assessment and final assessment
of electricity charges, in case of theft of energy?

et SBLB BoOLQUDD L6  @enemilifed sTeleuTm HMHEHTEOIS
LOHMID @miFH 6T SansEh QauniiuL. Geussi(hLd?

Describe section 137 and 138 of Electricity Act.

Wsoremy UL 1Nfley 137 wmmid 138 umm eNené@s.

KxrIAKIXIAXKXXXxX
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